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O 000000 000000000 ODOo000d #include
#include #include #define ERROR 0 #define TRUE 1 #define FALSE
0 #define OK 1 #define EQUAL 1 #define OVERFLOW -1 #define
STACK _INIT_SIZE 100 #define STACKINCREMENT 10 typedef
Int Status . struct STU{ char name[20]. char stuno[10]. int age. int
score. }. typedef struct STU SElemType. struct STACK { SElemType
*base. SElemType *top. int stacksize. }. typedef struct STACK
SgStack. typedef struct STACK *pSgstack. Status InitStack(SqStack
**S). Status DestroyStack(SqStack *S). Status ClearStack(SgStack
*S). Status StackEmpty(SgStack S). int StackLength(SgStack S).
Status GetTop(SqgStack S,SElemType *e). Status Push(SqStack
*S,SElemType e). Status Pop(SqStack *S,SElemType *e). Status
StackTraverse(SgStack S,Status (*visit)()). Status InitStack(SqStack
**S) { (*S)=(SqgStack *) malloc(sizeof(SqStack)).
(*S)->base=(SElemType *)malloc(STACK_INIT_SIZE
*sizeof(SElemType)). if(1(*S)->base)exit(OVERFLOW).
(*S)->top=(*S)->base. (*S)->stacksize=STACK _INIT_SIZE.
return OK. } Status DestroyStack(SgStack *S) { free(S->base).
free(S). } Status ClearStack(SgStack *S) { S->top=S->base. } Status
StackEmpty(SgStack S) { if(S.top==S.base) return TRUE. else return



FALSE. } int StackLength(SgStack S) { int 1. SElemType *p. i=0.
p=S.top. while(p!=S.base) {p .1.}}100Test 0 00 O 0 OO OO0 0O OO [
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